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FAZT4Ir<ASHELDHEARAHY

ERE 57,600 H
BE 1,530 M/B x30= 45,900 A
EEREE 370 A/B x30= 11,100 A
TAZT4tvk 1,694 /B x30= 50,820 H
ANEER it 165,420 M
2AEED it 231,420 A
2AEREQ it 247,920 A
BEED &t 297,420 A

EEIe) it 429,420 H

TA=T4vb<c>BBODERALGL

ERE 57,600 A
BE 1,530 A /B x30-= 45,900 A
EEREE 370 A/B x30= 11,100 A
TFAZT vk 814 M /B x30= 24,420 M
A NEDE & 139,020 M
2AEED &t 205,020 A
LABEQ it 221,520 A
BEZED it 271,020 A

BEHEQ it 403,020 H

(=M EHE
(=M EHE
(=M EHE
(=M EHE

(=M EHE
(=M EHE
(=M EHE
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X BES WHZRESFNH--HE. MR, BREENRELET,

2,200 H/H)
2,750 [/H)
4,400 M/8)
8,800 FH/H)

2,200 H/H)
2,750 M/H)
4,400 M/8)
8,800 H/H)

SHM7EAR1BER



m7 Bk S0BHEMER

~BERE(FA) ~
<708ELILE 1-2EIEE>
g5 I

TrA=—T149<A>

ERE 24,600 H
B 720 A/B x30= 21,600 H
EEREE 370 A/B x30= 11,100 A
TA=T4tvk 1,694 F/B x30= 50,820 H
AINSBDIEE it 108,120 A
2ANEED &t 174,120 @ (EHE%
2ANEEQ &t 190,620 B (EHEZ
B=ED &t 240,120 A (=@ =%
B=EQ &t 372,120 A (=@ =%

TrA=—T4EYR<C>

ERE 24,600 M
BE 720 A /A x30= 21,600 M
EEREE 370 A/B x30= 11,100 A
FA=T Ay 814 M /B x30= 24,420 A
AN EDHE it 81,720 H
2ARED &t 147,720 1 (EHER
2AREQ &t 164,220 A (EHER
EESQ) &t 213,720 A (=M=
EESE) &t 345,720 A (=M=

X BES WHZRESFNH--HE. MR, BREENRELET,

2,200 FH/H)
2,750 FH/R)
4,400 H/H)
8,800 H/H)

2,200 FH/H)
2,750 FH/R)
4,400 H/H)
8,800 H/H)
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~BERE(FA) ~
<708ELILE 1-2EIEE>
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TrA=—T149<A>

ERE 15,000 A
BE 330 /B x30= 9,900 A
EEREE 370 /B x30= 11,100 A
TA=T4tvh 1,694 M/B x30= 50,820 H
ANERE it 86,820 H
ARED &t 152,820 A
2AREQ &t 169,320 A
EEIQY) &t 218,820 A

EEIe) &t 350,820 A

TrA=T14yE<C>

ERE 15,000 A
BE 330 M@ /A x30= 9,900 H
EEREE 370 A/B x30= 11,100 A
TA=T4tvbk 814 M /B x30= 24,420 H
ANERE it 60,420 A
ABED it 126,420 A
2AEEQ it 142,920 A
EEIQY) &t 192,420 H

EESe) &t 324,420 A

(BHER
(BHER
(BEHER
(BHER

(BHER
(BHER
(BEHER
(BHER

X BHES HHERESFNHL-5HE. MR, AREENRELET,

2,200 [H/H)
2,750 MH/H)
4,400 H/H)
8,800 M/H)

2,200 [H/H)
2,750 FH/R)
4,400 H/H)
8,800 M/H)
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